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£1 OHMTEIEEHKE 1 EFORIK (BF 3HE~DF4 5 HAREIEH)
R | 2 T |k (VLR (2R |[2FE | RINE | ERES (%) MR RIEI S (%)
R [ HEEEE ] (em) | (mm) [WHE | (g) | (kg/10a) |Afh |Bén | L | L M S S Al
aFn 1= 21.3 30.7 | 7.0 | 69.2 | 1,494 |88.6 |[11.4| 0.0 | 6.6 [29.2 [25.0 |39.2
34 | 2[H] 27.3 |31.8 | 8.6 | 86.4 | 1,888 (92.3 | 7.7| 1.0 |22.1 [29.9 [13.6 |33.4
AFn 19 28.3 [33.5 | 8.4 [112.9 | 2,427 |60.8 |[38.2| 7.9 [32.5 [29.1 |[14.2 |16.3
44 | 21H 31.5 |34.6 | 9.1 |121.6 | 2,652 |72.6 |27.1]12.1 [37.0 [23.9 [10.0 |17.0
3 [A] 28.9 [31.3 | 9.2 | 8.8 | 1,843 |79.4 [20.6| 0.4 [18.9 [29.4 [22.3 |29.0
&2 LHTEBERHE 1 EFORERER (B 3E~DT4E  HEHREZH)
BER | T T | ol Elpw (Vo7 Ry | a7 | BE | 2o | ZRTRY
R | HEEEEE | (%) (%) | (%) (%) (%) (%) (%) (%)
SFn 18] 2.1 2.4 0.3 | 1.7 — — 2.1 3.6
34 2 [A] 1.6 1.6 0.3 | 1.6 — — 1.6 4.9
SEpit 1= 1.0 10.4 | 12.5 | 6.9 6.9 6.9 0.7 3.2
4 4 AE]| 1.7 15.3 | 14.9 | 3.5 3.8 2.4 0.6 4.7
3 [A] 1.5 6.4 9.4 | 3.7 4.5 1.9 1.8 3.1
(8) 1 HEBGT B34 BRI 4 Sl Sf4F [ 7 S
2 HEfFHE SF34: 5H20H Sf44: 5H6H
3 ez 12X 09 ~10 miZ FHEE,
4 FEsR= 9 g 120cm  BREfH 4cm  FEAE 3 cm
5 fEifE 223 25kg/10a, V) AME 30kg/10a, HNHE 25kg/10a
SF34E EPE6A17TH BETHSH, 7TH15H, 7H2H
SF4E HEEe6A20H BE7THISGH, TAH20H, 8H4H
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3 OHMTHEIEEEEBRWONEDORIK (A HFE~FF5E  HHREEN)
W | e 2 25 WHE WH Rt 2H |WHE
ER | HRFEIEIER (cm) (cm) (mm)  [2R/VERE [ViR/0LE (g) (g)
0 1 [H] 79.9 60. 2 70.0 11.4 8.6 1, 368 1, 336
4 4E 2 [A] 78.9 58.0 68.0 11.6 8.5 1, 356 1, 322
4Fn 1[H] 95.5 76. 3 64.3 14. 8 11.9 1, 796 1,770
54 2 [A] 96. 4 76. 8 63.3 15.2 12. 1 1, 708 1, 682
3 [A] 95.0 74.6 59.3 16.0 12.6 1,479 1, 453
£4 OHTHEBEEHEEVLEOERINE ESA4FE~SEE  FHREIEH)
AR | @& 2 2 WIvE | TR E SRR & (kg 10a)
R | BESEEE | (kg/10a) | (kg/10a) Afh B i C i - D i
4Fn 1[H] 4,722 4,247 253 672 0647 139 2,536
44 2 [A] 4,670 4,275 705 582 627 238 2,122
4Fn 1[H] 5,717 5, 662 2,635 1, 095 859 212 861
5 4 2] 5, 683 5, 592 2,770 849 852 177 945
3 [A] 4,835 4,738 2,078 1, 084 432 3156 828
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RER | o T N THEGE a7 - (%) 20 | ZoM | ZRTHRD
R | HRFEEIER (%) (%) ili] . (%) (%) (%)
Sepit 1[5 13.1 8.1 38.6 55.2 9.1 13.0 20.6
4 4F 2 [A] 9.4 8.7 22.9 53.8 9.1 14.0 20.9
Sepit 1[5 4.9 4.0 34.2 6.1 4.8 4.8 7.7
54 2 [7] 4.7 3.4 35.0 2.8 6.1 8.2 6.9
3 [a] 5.7 3.5 32.2 3.0 8.1 8.3 4.2
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